(RN
<

5 =

D
g =
= 3
S ()
"O N—
Bf e}

1072

o C ’ o
[ IR ] ST 1 IS
o N : o
]_:— ----------- - :' -; .- ¥ + dl R
08- H 1 1 I H H | 1 1 : H
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew7_step2_tthar-phasel-newgeom

— — 1
£ IS :
) S
e e
-~ —
< -
° o
o e
) e}

SO U 0 11 N AR U RN

kS peedlhiite : e g U HHEE A 1

S | I TR 0.95— : H A b
0.6F------- POl 1 e 1 0 et F 5 ' b :

-3 =2 -1 0 T 2 3 83— =1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

: g :
o102} LI L L f
g TN 1 O | R
0.5 -+ =tk - EE A LA EA - -

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


